

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO SJM 1089B

	REPLACEMENT OF PARTS			
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
1	BONNET	DENTED	\$462.00	\$462.00
1	BONNET INSULATOR	CRUMPLED	\$73.00	\$73.00
2	BONNET HINGE @\$26.00	BENT	\$52.00	\$52.00
1	BONNET LOCK	DAMAGED	\$54.00	\$54.00
1	BONNET WEATHERSTRIP	NOT NECESSARY	\$29.00	\$0.00
1	BONNET LOCK BRACE PANEL	BENT	\$58.00	\$58.00
2	FRONT WIPER PANEL GARNISH @\$286.10	NOT NECESSARY	\$572.20	\$0.00
1	FRONT BUMPER	DISTORTED	\$678.00	\$678.00
2	FRONT BUMPER RETAINER @\$39.00	O/S SMASHED	\$78.00	\$39.00
2	FRONT BUMPER FOGLAMP COVER @\$45.00	O/S MISSING	\$90.00	\$45.00
1	FRONT BUMPER TOW HOOK COVER	MISSING	\$19.00	\$19.00
1	FRONT BUMPER LOWER GRILLE	CRACKED	\$142.00	\$142.00
1	FRONT BUMPER REINFORCEMENT (UPPER)	DENTED	\$279.00	\$279.00
1	FRONT BUMPER REINFORCEMENT COVER GARNISH (UPPER)	CRACKED	\$99.00	\$99.00
1	FRONT BUMEPR REINFORCEMENT (LOWER)	NOT NECESSARY	\$197.00	\$0.00
1	FRONT BUMPER REINFORCEMENT COVER GARNISH (LOWER)	NOT NECESSARY	\$98.00	\$0.00
1	FRONT RADIATOR GRILLE	CRACKED	\$158.00	\$158.00
1	FRONT RADIATOR GRILLE LOGO	NECESSARY	\$30.00	\$30.00
2	HEADLAMP @\$395.00	N/S CRACKED / O/S SMASHED	\$790.00	\$790.00
2	HEADLAMP PANEL (TOP) @\$89.00	NOT NECESSARY	\$178.00	\$0.00
2	HEADLAMP PANEL (SIDE) @\$84.00	O/S BENT	\$168.00	\$84.00
1	FRONT WIPER WASHER TANK	DEFORMED	\$144.00	\$144.00
2	FRONT FENDER @\$236.00	O/S DISTORTED	\$472.00	\$236.00
2	FRONT FENDER INNER COWLING @\$98.00	O/S TORN	\$196.00	\$98.00
1	FRONT WHEEL HOUSE PANEL RH	TO REPAIR SEE LABOUR	\$596.00	\$0.00
1	ENGINE UNDER COVER	NOT NECESSARY	\$299.80	\$0.00
2	ENGINE SIDE COVER GARNISH @\$76.00	NOT NECESSARY	\$152.00	\$0.00
1	RESONATOR BOX	NOT NECESSARY	\$284.60	\$0.00
1	AIR CLEANER (COMPLETE)	NOT NECESSARY	\$398.70	\$0.00
1	RADIATOR TOP PANEL	DISTORTED	\$197.00	\$197.00



	REPLACEMENT OF PARTS				
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)	
1	RADIATOR BOTTOM PANEL	TO REPAIR SEE LABOUR	\$89.60	\$0.00	
1	RADIATOR	DISTORTED	\$796.00	\$796.00	
2	RADIATOR SIDE GARNISH @\$69.00	O/S TORN	\$138.00	\$69.00	
2	RADIATOR TOP BRACKET @\$28.00	BENT	\$56.00	\$56.00	
4	RADIATOR BRACKET MOUNTING @\$20.00	NECESSARY	\$80.00	\$80.00	
1	RADIATOR FAN COWLING	DAMAGED	\$196.00	\$196.00	
1	RADIATOR FAN BLADE	NOT NECESSARY	\$64.85	\$0.00	
1	RADIATOR FAN MOTOR	DAMAGED	\$352.15	\$352.15	
1	RADIATOR SPARE TANK	NOT NECESSARY	\$67.10	\$0.00	
2	RADIATOR TOP HOSE @\$39.80	NOT NECESSARY	\$79.60	\$0.00	
2	RADIATOR LOWER HOSE @\$39.80	NOT NECESSARY	\$79.60	\$0.00	
1	AIR CON CONDENSER	DENTED	\$695.00	\$695.00	
1	AIR CON PIPE	NOT NECESSARY	\$298.40	\$0.00	
1	AIR CON PRESSURE PIPE	BENT	\$395.20	\$395.20	
1	AIR CON SUCTION PIPE	BENT	\$384.20	\$384.20	
1	FRONT AIR DUCT	NOT NECESSARY	\$183.40	\$0.00	
1	FRONT MANIFOLD	NOT NECESSARY	\$598.80	\$0.00	
1	FRONT MANIFOLD GASKET	NOT NECESSARY	\$64.30	\$0.00	
1	FRONT MANIFOLD INSULATOR	NOT NECESSARY	\$239.00	\$0.00	
1	ENGINE VALVE COVER	CRACKED	\$976.20	\$976.20	
1	ENGINE VALVE COVER GASKET	NOT NECESSARY	\$196.40	\$0.00	
1	ENGINE TIMING COVER	NOT NECESSARY	\$1,295.00	\$0.00	
1	ENGINE TIMING COVER GASKET	NOT NECESSARY	\$198.40	\$0.00	
1	O2 SENSOR	NOT NECESSARY	\$496.00	\$0.00	
1	SET ENGINE MOUNTING	NOT NECESSARY	\$469.20	\$0.00	
2	HORN @\$80.00	NOT NECESSARY	\$160.00	\$0.00	
1	TAIL GATE	DENTED	\$795.00	\$795.00	
1	TAIL GATE LOGO	NECESSARY	\$30.25	\$30.25	
1	TAIL GATE EMBLEM 'SWIFT'	NECESSARY	\$32.45	\$32.45	
1	TAIL GATE OUTER HOLDER WITH SWITCH	NOT NECESSARY	\$70.00	\$0.00	
1	TAIL GATE INNER LOCK	DAMAGED	\$180.00	\$180.00	



	REPLACEMENT OF PARTS			
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
1	TAIL GATE INNER TRIM BOARD	CRACKED	\$269.00	\$269.00
1	TAIL GATE WEATHERSTRIP	CUT	\$176.00	\$176.00
4	TAIL GATE STOPPER @\$20.00	NOT NECESSARY	\$80.00	\$0.00
1	TAIL GATE DAMPER	NOT NECESSARY	\$169.80	\$0.00
1	TAIL GATE WINDSCREEN GLASS	NOT NECESSARY	\$847.00	\$0.00
1	TAIL GATE WINDSCREEN MOULDING	NECESSARY	\$129.85	\$129.85
2	SET REAR NUMBER PLATE LAMP @\$42.00	CRACKED	\$84.00	\$84.00
1	REAR NUMBER PLATE LAMP BRACKET	NOT NECESSARY	\$30.00	\$0.00
1	REAR BUMPER	DISTORTED	\$590.00	\$590.00
2	REAR BUMPER SIDE RETAINER @\$29.00	NOT NECESSARY	\$58.00	\$0.00
2	REAR BUMPER BRACKET @\$34.00	DENTED	\$68.00	\$68.00
2	TAIL LAMP @\$276.00	CRACKED	\$552.00	\$552.00
2	TAIL LAMP PANEL @\$120.00	TO REPAIR SEE LABOUR	\$240.00	\$0.00
2	TAIL LAMP INNER PANEL @\$98.00	TO REPAIR SEE LABOUR	\$196.00	\$0.00
1	REAR FENDER LH	TO REPAIR SEE LABOUR	\$497.85	\$0.00
2	REAR FENDER COWLING @\$97.00	NOT NECESSARY	\$194.00	\$0.00
2	REAR FENDER INNER TRIM @\$196.00	NOT NECESSARY	\$392.00	\$0.00
1	REAR END PANEL	DENTED	\$346.00	\$346.00
1	REAR END PANEL TOP GARNISH	DEFORMED	\$144.00	\$144.00
1	REAR END PANEL AIR VENT	DEFORMED	\$57.00	\$57.00
1	REAR FLOOR PANEL	NOT NECESSARY	\$681.90	\$0.00
2	REAR FLOOR PANEL SIDE SUPPORT @\$89.45	NOT NECESSARY	\$178.90	\$0.00
1	REAR FLOOR PANEL TOP BOARD WITH MAT	NOT NECESSARY	\$194.00	\$0.00
1	REAR SPARE TYRE BOLT	NOT NECESSARY	\$32.25	\$0.00
1	REAR EXHAUST PIPE WITH SILENCER BOX	NOT NECESSARY	\$596.00	\$0.00
4	REAR EXHAUST MOUNTING @\$28.00	NOT NECESSARY	\$112.00	\$0.00
1	REAR EXHAUST INSULATOR	NOT NECESSARY	\$27.00	\$0.00
1	REAR EXHAUST PIPE GASKET	NOT NECESSARY	\$60.00	\$0.00
1	CENTER EXHAUST PIPE	NOT NECESSARY	\$694.00	\$0.00
1	CENTER EXHAUST INSULATOR	NOT NECESSARY	\$143.00	\$0.00



	REPLACEMENT OF PARTS				
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)	
1	CENTER EXHAUST PIPE GASKET	NOT NECESSARY	\$60.00	\$0.00	
	LESS 15.00% DISCOUNT		(\$3,704.99)	(\$1,678.55)	
		\$20,994.96	\$9,511.75		

	Special	Nett		
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
1	FRONT NUMBER PLATE (SN)	CRACKED	\$50.00	\$50.00
1	SET FRONT BUMPER CLIP (SN)	NECESSARY	\$50.00	\$30.00
1	SET FRONT SUPPORT PANEL SIDE GARNISH CLIP (SN)	NECESSARY	\$30.00	\$15.00
1	STE BONNET INSULATOR CLIP (SN)	NECESSARY	\$50.00	\$30.00
2	SET FRONT WIPER GARNISH CLIP @\$50.00 (SN)	NOT NECESSARY	\$100.00	\$0.00
1	SET FRONT RADIATOR GRILLE CLIP (SN)	NECESSARY	\$50.00	\$20.00
1	SET FRONT FENDER TOP COVER GARNISH CLIP (SN)	NOT NECESSARY	\$30.00	\$0.00
1	SET FRONT FENDER INNER COWLING CLIP (SN)	NECESSARY	\$50.00	\$20.00
2	FRONT WHEEL HOUSE PANEL SEALANT @\$80.00 (SN)	NOT NECESSARY	\$160.00	\$0.00
1	SET ENGINE UNDER COVER CLIP (SN)	NOT NECESSARY	\$50.00	\$0.00
1	SET ENGINE SIDE COVER GARNISH CLIP (SN)	NOT NECESSARY	\$50.00	\$0.00
1	RADIATOR COOLANT (SN)	NECESSARY	\$80.00	\$40.00
1	REAR NUMBER PLATE (SN)	CRACKED	\$50.00	\$50.00
1	SET REAR BUMPER CLIP (SN)	NECESSARY	\$50.00	\$30.00
1	SET TAIL LAMP CLIP (SN)	NOT NECESSARY	\$30.00	\$0.00
2	TAIL LAMP PANEL SEALANT @\$80.00 (SN)	NOT NECESSARY	\$160.00	\$0.00
1	SET TAIL GATE INNER TRIM BOARD CLIP (SN)	NECESSARY	\$50.00	\$30.00
1	TAIL GATE WINDSCREEN SEALANT (SN)	NECESSARY	\$80.00	\$40.00
1	TAIL GATE WINDSCREEN INNER SHIELD (SN)	NECESSARY	\$60.00	\$30.00
2	REAR FENDER SEALANT @\$80.00 (SN)	NOT NECESSARY	\$160.00	\$0.00
1	SET REAR FENDER INNER TRIM BOARD CLIP (SN)	NOT NECESSARY	\$30.00	\$0.00
1	SET REAR FENDER INNER TRIM CLIPS (SN)	NOT NECESSARY	\$30.00	\$0.00
1	SET REAR FENDER UPPER TRIM CLIPS (SN)	NOT NECESSARY	\$30.00	\$0.00
1	SET REAR FENDER INNER COWLING CLIPS (SN)	NOT NECESSARY	\$30.00	\$0.00
1	SET REAR END PANEL TOP GARNISH CLIPS (SN)	NECESSARY	\$30.00	\$20.00



	Special Nett				
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)	
1	REAR END PANEL INSULATION SEAL (SN)	NECESSARY	\$150.00	\$60.00	
1	REAR FLOOR PANEL SEALANT (SN)	NOT NECESSARY	\$350.00	\$0.00	
1	REAR BUMPER TOP PROTECTOR (SPECIAL TYPE) (SN)	NECESSARY	\$200.00	\$80.00	
1	REAR BUMPER STICKER (SPORTS) (SN)	NECESSARY	\$80.00	\$50.00	
1	REVERSE SENSOR (SN)	DAMAGED	\$220.00	\$200.00	
1	REVERSE CAMERA (SN)	NOT NECESSARY	\$450.00	\$0.00	
		\$2,990.00	\$795.00		

Labour				
Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$	
PANEL BEATING, REMOVING AND REPLACING PARTS (FRONT). INCLUSIVE OF THE REPAIR OF FRONT WHEEL HOUSE PANEL RH AND RADIATOR BOTTOM PANEL		\$2,200.00	\$800.00	
SPRAY PAINTING TO AFFECTED AREA (FRONT)		\$1,800.00	\$800.0	
REMOVE AND REFIX AIRCON CONDENSOR (FRONT)		\$120.00	\$60.0	
REMOVE AND REFIX RADIATOR AND CONDUCT PRESSURE TEST FRONT)		\$80.00	\$60.0	
REFOCUS HEADLAMP BEAM (FRONT)	NOT NECESSARY	\$60.00	\$0.0	
LIFT UP AND REFIX ENGINE (FRONT)	NOT NECESSARY	\$650.00	\$0.0	
ECU CHECKING AND RESET ENGINE LIGHT (FRONT)	NOT NECESSARY	\$650.00	\$0.0	
PANEL BEATING, REMOVING AND REPLACING PARTS (REAR). INCLUSIVE OF THE REPAIR OF TAIL LAMP PANEL, TAIL LAMP INNER PANEL AND REAR FENDER LH		\$2,200.00	\$800.0	
TO SPRAY PAINT AFFECTED AREA (REAR)		\$1,800.00	\$800.0	
TUFF COAT (REAR)		\$250.00	\$80.0	
WIRING CHECK (REAR)		\$180.00	\$30.0	
REMOVE AND REFIX CUSHION SEAT / UPHOLSTRY AND ROOF LINNING TO FACILITATE REPAIR (REAR)		\$350.00	\$60.0	
REMOVE AND REFIX REVERSE SENSOR AND DISTANCE SETTING (REAR)		\$80.00	\$50.0	
TRANSFER TAILGATE MECHANISM (REAR)		\$80.00	\$60.0	
REMOVE AND REFIX TAILGATE WINDSCREEN (REAR)		\$120.00	\$120.0	
CONDUCT WATER LEAKAGE TEST (REAR)	NOT NECESSARY	\$80.00	\$0.0	
REMOVE AND REFIX FUEL TANK TO FACILITATE FENDER REPLACEMENT (REAR)	NOT NECESSARY	\$120.00	\$0.0	



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

Labour				
Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$	
REMOVE AND REFIX REAR EXHAUST PIPE (REAR)	NOT NECESSARY	\$180.00	\$0.00	
REMOVE AND REFIX TAILGATE SPOILER (REAR)	NOT NECESSARY	\$120.00	\$0.00	
REAR CHASSIS ALIGNMENT (REAR)	NOT NECESSARY	\$250.00	\$0.00	
TO CHECK DIAGNOSTICS OF VEHICLE MANAGEMENT / CONTROL UNITS, RESET MEMORIES TO SPECIFICATION ETC (REAR)	NOT NECESSARY	\$180.00	\$0.00	
		\$11,550.00	\$3,720.00	
GRAND TOTAL		\$35,534.96	\$14,026.75	
RECOMMENDED COST OF LUMP SUM REPAIRS (TO ITS PRE-ACCIDENT CONDITION) (CONFIRMED)			\$11,200.00	
Report Ref No: CS/INC24080107/Avh3e2				

TOTAL FOR SPARE PARTS: \$ 23,984.96 \$ 10,306.76

TOTAL FOR LABOUR: \$ 11,550.00 \$ 3,720.00

TOTAL REPAIR COST: \$ 35,534.96 \$ 14,026.76

LWP

ADRIAN LING WAI PING

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of reposibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.